Bp 1: Make sure the piece with the unknown exponent is_1SOLAXE A or
step 22 OWOUSY  into logarithmic form.
step 3: L NO\WOX ) using your calculator and then solve for x!

Example 1: Solve for x: 53 = é You Try' Solve for x: 2°3%*% = 32

0y YA
!Qgs(ns) 3% oy (820 = 5%+
- 3 o
.
Example 2: Solve for x: 3% + 5 = 40
-
ey 22 = X
155335
W = 2,249

~ Why WOUld ou need o use a log? Because fhe variables are in the ___and logs _9_ fheml own!

A Method 2: Propertfies of Logs :

e (Note: This works for every problem) 1....- _.

———— - ——

Step 1: Make sure the piece with the unknown exponent is 3 OO (;i on one side.
Step 2: [0 the logarithm to each side of the eguation.,
Step 3: Use the T4 | YT ”gf)(? . to bring down the exponent and solve!

You Try! Solve for x: 62 = 258
(01006 = 4X) 10Q 25
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~ Evaluate in your Calculator
Use when the variable is not
attfached to the logarithm,

Solve for x:lege X -

Cancel the logs! A=2%X - "L
Do this if and only if there is ' - g)
one log per side: |

A= 2

Condense the logs Solve for x: 3log,x +log,5=7

So that only one o WL y M =7} g o
RIBY ¢ '-Q N5 el - 7% o
appears per side, Then,
decide whether fo cancel, | r o8 Y %9 q\_}
/ 7N . :
SWOOSsh, Or use change of
pase.

Solve for x: 7%7° 45 =30
SWOQOSH]!
uUse this if there iIs only one

varable located in the
exponent.

e

Solve for X: 252% = 125%!

Add logs! | " 125
Add a log to each side of o (9 0, 5 )Q
the equation If there are FLVIN WS @\ 1 \)
variables located in both " o

exponents! I W

Wice Complefe the followung problems for extra practice using the above rules for solving ,,im}w—\ :
. 2logax =12 2. Log 5x-log7=2
i‘%. X0 ) SX -2 105X
i '7 Y
. .I XK= 10

(2. 9%
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